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OBJECTIVES

CHAPTER 1 1: RADIC AL o | can simplify radical expressions
EXPRESSIONS

Il SimPIiFying Radical Expressions

7 )
e
Radical expressions like 2V/3 and Vx + 3 contain a radical. You read Vx + 3 as Multiplication Property of Square Roots
“the square root of the quantity x plus three.” You can simplify a radical expression For every numbera = 0and b = 0, Vab = Va - Vb.
by'ren_'mving |j:erf§<‘:_t-square factm-tq ﬁ_-o'm }_he radicand. Recall that a radicand is the ExampI; V32 = VB VB =3 VE=3VE
quantity or expression under the radical sign.
Division Property of Square Roots
For every n‘Enber af Oand b > 0, \ﬁ = :’TZ
Example 38 = V20 = {
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PART 1: SIMPLIFYING RADICAL
EXPRESSIONS

You can use the Multiplication Property of Square Roots to simplify radical
expressions by rewriting the radicand as a product of the perfect-square factors
times the remaining factors,

o Simplity each radical expression.
a. /50 b. =5Vv300 c. VI8

PART 1: SIMPLIFYING RADICAL
EXPRESSIONS

0 Simplify each radical expression.

a VI3 - V52 b. 5V3¢ - Voc e 2V5a2 - 6V 1043
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PART 1: SIMPLIFYING RADICAL
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9 Simplify each radical expression.

a. \V27n?
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b. —a\/ 60a’

9 Simplify each radical expression.
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25p3
N4
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PART 1: SIMPLIFYING RADICAL
EXPRESSIONS

6 Simplify each radical expression.

90 (48 (2743
a4z b. \75 &5y

®

CAN YOU?? PROVE IT!!

ol can simpli@y radical expressions
0 Go back and Finish all the blank problems ©

Simplest Radical Form

A radical expression is in simplest radical form when all three statements
are true.

® The radicand has no perfect-square factors other than 1.
e The radicand has no fractions.
¢ The denominator of a fraction has no radical.

PART 1: SIMPLIFYING RADICAL
EXPRESSIONS

A radicand in the denominator of a radical expression may not be a perfect square.

To simplify, you may need to rationalize the denominator. To do this, you
multiply the numerator and the denominator by the same radical expression. You
choose a radical expression that will make the denominator a perfect square.

9 Simplify by rationalizing the denominator.

3 V3 . [Tm
a5 b. Vig 70
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